You are watching an episode of Law and Order.  The plot for this episode includes a scientist that was trying to communicate with patients in a persistent vegetative state.  She put two signs in front of the patients.  The sign on the right side of the patient read ‘Yes.’  The sign on the left side of the patient read ‘No.’  Then she asked the patients yes or no questions and recorded their response as a ‘Yes’ if the patient first looked to the right, or a ‘No’ if the patient first looked to the left.  In the show there is a disagreement over whether or not the scientist was actually communicating with these patients, or if she was simply recording random eye movements in these patients.  The scientist claimed the percent of correct responses she got showed she was able to communicate with these patients.  What percent of correct responses do you believe she should have gotten in order to claim she was able to communicate with the patients?  Why?

